
1) 28 x 100

Answer: ____________

2) 25% of 22

Answer: ____________

3) Simplify 12:14

Answer: ____________

4) Simplify 12:14

Answer: ____________

5) Simplify 12:14

Answer: ____________

6) b

a o c
Measure angle boa 

Answer: ____________

7) 21/2 ÷ 65/6

Answer: ____________

8)
20

Volume of Cone 
18

Answer: ____________

9)
20

Volume of Cone 
18

Answer: ____________

10) An amount was decreased by 7.5% to 
$335.00. Find the original amount.

Answer: ____________

11) 77.4 - 14.1

Answer: ____________

12) 71 - 69

Answer: ____________

13) 71 - 69

Answer: ____________

14) 97 - (-5)

Answer: ____________

15) Find the percentage change from 20 
to 25

Answer: ____________
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16) Decrease 16 by 75%

Answer: ____________

17) 97% of 57

Answer: ____________

18) 'What is the probability of rolling a 
even prime number.when rolling a 
dice

Answer: ____________

19) 92 x 3 ÷ 18

Answer: ____________

20)
Find the next three numbers in 
the sequence
27,22,33,28,39,34,45__,__,__

Answer: ____________

Total: ___ / 20
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Answers:

1) 2800 2) 5.5 3) 6 : 7 4) 6 : 7 5) 6 : 7 6) 45 7) 15/41

8) 6785.840131754 9) 6785.840131754 10) $309.88 11) 63.3 12) 2 13) 2 14) 102

15) 25% 16) 4 17) 55.29 18) 1/6 19) 20) 40,51,46,
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